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In Data ONTAP the root user is exempt from these two quotas: _______. (Choose two.)
 
 
A. group quotas 
B. user quotas 
C. tree quotas 
D. root quotas 
E. file quotas 
 

Answer: A,B

 

 

Which two are Data ONTAP commands for gathering performance information? (Choose
two.)
 
 
A. sio_ntap_soll 
B. sysstat 
C. perfstat 
D. nfsstat 
 

Answer: B,D

 

 

Which exportfs command will temporarily export the resource <path> while ignoring the
options specified in the /etc/exports file?
 
 
A. exportfs -a <path> 
B. exportfs -u <path> 
C. exportfs -v <path> 
D. exportfs -i <path> 
 

Answer: D
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Which two are functions of multipathing software? (Choose two.)
 
 
A. Mirroring Port IO 
B. Path health monitoring 
C. Load balancing 
D. RAID reconstruction after a failure 
E. Monitoring fiber optical signal quality 
 

Answer: A,C

 

 

There are 16 SAS disks available for creating the aggregate; you use 14 disks to create a
RAID DP aggregate. The RAID group size is 8 disks in a raid group. 
 
 
Which statement is TRUE?
 
 
A. You create 1 raid group of 16 disks. 
B. You create 2 raid groups of 6 disks each. 
C. You create 2 RAID groups one containing 8 disks and other containing 6 disks. 
D. You create 1 raid group of 12 disks. 
 

Answer: B

 

 

What is a VSIM?
 
 
A. It is a data replication solution.  
B. It is a data protection solution for remote and branch offices.  
C. It runs Data ONTAP without using standard NetApp platforms.  
D. It is a thin replication solution. 
 

Answer: C
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Match the configuration file with its purpose.
 
 

 
 
 

Answer:

 

 

Which technology natively enables block-level access by a host to d.sk storage via a
standard LAN?
 
 
A. iSCSI 
B. FC 
C. CIFS 
D. NFS 
 

Answer: A
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Which two commands can be used to enable LUN reservations? (Choose two.)
 
 
A. lun create 
B. fcp -r <lun_path> 
C. lun set reservation 
D. iscsi -r <lun_path> 
 

Answer: A,C

 

 

John is a windows user attempting to access a volume or qtree with security style of UNIX.
Assuming no explicit name mapping has been done and to validate authorization, to which
default user does he get mapped?
 
 
A. Admin 
B. Pcuser 
C. Root 
D. john 
 

Answer: B
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